Bid #423-11009 - Storm Structure Service Maintenance (Annual Contract)

Start Date May 25, 2012 6:53:28 AM EDT Awarded Date Not Yet Awarded

423-1100901-01 Maintenance of Catch Basins, Inlets, and Manholes							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
envirowaste services group, inc	First Offer - \$50.00	500 / each	\$25,000.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
A & A DRAINAGE & VAC SERVICES, INC	First Offer - \$90.00	500 / each	\$45,000.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Comtech Engineering, Inc.	First Offer - \$104.00	500 / each	\$52,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Shenandoah General Const. Co.	First Offer - \$150.00	500 / each	\$75,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
f. a. johnson, inc.	First Offer - \$180.00	500 / each	\$90,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:				

423-1100901-02 Maintenance of Pipe 6" to 36"							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
A & A DRAINAGE & VAC SERVICES, INC	First Offer - \$0.00	1000 / linear foot	\$0.00		Υ		
		Supplier Product C Supplier Notes:	Code:				
Comtech Engineering, Inc.	First Offer - \$3.64	1000 / linear foot	\$3,640.00		Υ		
		Supplier Product Code: Supplier Notes:					
f. a. johnson, inc.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
envirowaste services group, inc	First Offer - \$6.00	1000 / linear foot	\$6,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Shenandoah General Const. Co.	First Offer - \$8.00	1000 / linear foot	\$8,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				

423-1100901-03 Maintenance of Pipe >36"						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A & A DRAINAGE & VAC SERVICES, INC	First Offer - \$0.00	500 / linear foot	\$0.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Comtech Engineering, Inc.	First Offer - \$3.64	500 / linear foot		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
envirowaste services group, inc	First Offer - \$8.00	500 / linear foot	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
f. a. johnson, inc.	First Offer - \$10.00	500 / linear foot	\$5,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Shenandoah General Const. Co.	First Offer - \$15.00	500 / linear foot	\$7,500.00		Υ	
Product Code:		Supplier Product	Code:			

Agency Notes: Supplier Notes:

423-1100901-04 Closed Circuit Televising of Pipe (CCTV) 6" to 36"								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
envirowaste services group, inc	First Offer - \$2.00	1000 / linear foot	\$2,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
Shenandoah General Const. Co.	First Offer - \$2.00	1000 / linear foot	\$2,000.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
A & A DRAINAGE & VAC SERVICES, INC	First Offer - \$2.50	1000 / linear foot	\$2,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Comtech Engineering, Inc.	First Offer - \$2.60	1000 / linear foot	\$2,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
f. a. johnson, inc.	First Offer - \$3.00	1000 / linear foot	\$3,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

423-1100901-05 Closed Circuit Televising of Pipe (CCTV) >36"						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Shenandoah General Const. Co.	First Offer - \$2.00	500 / linear foot	\$1,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
envirowaste services group, inc	First Offer - \$2.50	500 / linear foot	\$1,250.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
A & A DRAINAGE & VAC SERVICES, INC	First Offer - \$2.50	500 / linear foot	\$1,250.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Comtech Engineering, Inc.	First Offer - \$2.60	500 / linear foot	\$1,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
f. a. johnson, inc.	First Offer - \$3.00	500 / linear foot	\$1,500.00		Υ	
		Supplier Product Code: Supplier Notes:				

423-1100901-06 Maintenance of Outfalls						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A & A DRAINAGE & VAC SERVICES, INC	First Offer - \$40.00	150 / each	\$6,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
envirowaste services group, inc	First Offer - \$150.00	150 / each	\$22,500.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
f. a. johnson, inc.	First Offer - \$180.00	150 / each	\$27,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Comtech Engineering, Inc.	First Offer - \$325.00	150 / each	\$48,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Shenandoah General Const. Co.	First Offer - \$650.00	150 / each	\$97,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

423-1100901-07 Maintenance of Storm Valve/Inlet							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A & A DRAINAGE & VAC SERVICES, INC	First Offer - \$40.00	300 / each	\$12,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
f. a. johnson, inc.	First Offer - \$180.00	300 / each	\$54,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Comtech Engineering, Inc.	First Offer - \$195.00	300 / each	\$58,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
envirowaste services group, inc	First Offer - \$400.00	300 / each	\$120,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Shenandoah General Const. Co.	First Offer - \$400.00	300 / each	\$120,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

423-1100901-08 Maintenance of Pollution Control Devices						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A & A DRAINAGE & VAC SERVICES, INC	First Offer - \$50.00	8 / each	\$400.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
f. a. johnson, inc.	First Offer - \$180.00	8 / each	\$1,440.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Comtech Engineering, Inc.	First Offer - \$390.00	8 / each	\$3,120.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
envirowaste services group, inc	First Offer - \$1,000.00	8 / each	\$8,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Shenandoah General Const. Co.	First Offer - \$1,500.00	8 / each	\$12,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

423-1100901-09 Maintenance of E					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A & A DRAINAGE & VAC SERVICES, INC	First Offer - \$50.00	50 / each	\$2,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
envirowaste services group, inc	First Offer - \$500.00	50 / each	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Shenandoah General Const. Co.	First Offer - \$500.00	50 / each	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
f. a. johnson, inc.	First Offer - \$1,250.00	50 / each	\$62,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Comtech Engineering, Inc.	First Offer - \$2,470.00	50 / each	\$123,500.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

Supplier Totals

A & A DRAINAGE & VAC SERVICES, INC

\$69,650.00 (9/9 items)

Bid Contact JAMES SCRIMA Address 13846 NW 14 STREET

_	tassociatesIlc@gmail.com h 786-991-8649		PEMBROKE PINE	S, FL 33028	
Agency Notes	:	Supplier	Notes:		
envirowaste	services group, inc			\$213,750.00	(9/9 items)
_	ddy barba ddybarba@gmail.com h 305-637-9665	Address	4 se first street second floor miami, FL 33131		
Agency Notes	:	Supplier	Notes:		
f. a. johnson	<u>, inc.</u>			\$249,440.00	(9/9 items)
	ete cameron <u>ete@fajohnson.com</u> h 954-776-5931	Address	4700 powerline r oakland park, FL		
Agency Notes	:	Supplier	Notes:		
Comtech Eng	gineering, Inc.			\$295,230.00	(9/9 items)
Bid Contact	Adrian Othon <u>aothon@comtecheng.com</u> Ph 305-969-2140	Address	Miami, FL 3318	•	
Qualifications	DBE MBE				
Agency Notes	:	Supplie	er Notes:		
Shenandoah	General Const. Co.			\$348,000.00	(9/9 items)
_	largaret Lary largaret.Lary@shenandoahconstruction.com h 954-975-0098	1	Address 1888 N Pompa	JW 22 Street ino Beach, FL 3	3069
Agency Notes	:		Supplier Notes:		

* *